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QUESTION 1
The Real-Time Availability Monitor (RTAM) transaction is under which process type?
A. Applications Manager > Applications > Process Modeling > Inventory Management

B. Applications Manager > Applications > Application Platform > Process Modeling > Order Tab > Order Fulfillment
process type

C. Applications Manager >Applications > Application Platform > Process Modeling > General Tab > General process
type

D. Applications Manager > Applications > Process Modeling > Global Inventory Visibility

Correct Answer: C

QUESTION 2

A business wants to make sure that when an item within an order is not available at localstore or regional distribution
centers, the item should be sourced from a central warehouse.

How can this be accomplished?

A. Enable the "Fulfill from all ship nodes" configuration in the Applications Manager

B. Ensure that the central warehouse belongs to a central region created in the Applications Manager

C. Ensure that the central warehouse is configured in a distribution group in the Applications Manager

D. Make use of the backorder against the highest priority ship node rule in the document- specific fulfilment rule

Correct Answer: C

QUESTION 3
XYZ-CORP is an enterprise and a catalog organization that maintains items, such as processors, motherboards, and

chipsets. When an implementation professional defines the sub-catalog organizations as shown in thefollowing figure,
which statement is true?
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A. Only XYZ-CORP is authorized to create and manage categories within the XYZ-Vendor category, such as the Perfect
category

B. Only XYZ-CORP is authorized to create and manage categories within the XYZ- Vendor category and the XYZ-Retail
category

C. XYZ-Retaill can assign items from the Memory and Platform categories and their subcategories to its own categories

D. XYZ-Vendor is authorized to create and manage categories within XYZ-Retail, and the XYZ-Retail is authorized to
create and manage categories within XYZ-Vendor since both are sub-catalog Organization Enterprises.

Correct Answer: A

QUESTION 4
A large retailer is out-of-stock on a lire model from the ABC tire company that is requested by a customer.

Which type of association with respect to the ABC tire model canbe configured in IBM Sterling Business Center to
prompt the CSR to offer the customer a similar tire from the XYZ tire company?

A. Up-sell association

C8010-250 PDF Dumps | C8010-250 VCE Dumps | C8010-250 Study Guide 3/4


https://www.passapply.com/c8010-250.html
https://www.passapply.com/c8010-250.html
https://www.passapply.com/c8010-250.html

VCE & PDF https://www.passapply.com/c8010-250.html
2024 Latest passapply C8010-250 PDF and VCE dumps Download
PassApply.com

B. Competitive association
C. Cross-sell association
D. Alternative association

Correct Answer: D

QUESTION 5

An implementation professional creates a custom or hang-off entity. Which statement about this process is NOT true?
A. Invokes Extensible APIs that store and retrieve data from hang-off tables

B. invoke dbverify for generating appropriate SOL scripts to create or alter tables for custom or hang-off entities

C. Does not provide ability to Audit item and organization tables DCreates a relationship between a standard table and a
hang-off table

Correct Answer: C
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